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2. Recombination (%) of Three point Test Cross: 

Crossing over percentage between genes A and B = (114+116)+(5+4)/1200 x 100 = 230 + 9/1200 × 

100 = 19.92% 

 Crossing over percentage between genes B and C = (128 + 124)+ (5 + 4)/1200 x 100 = 252 + 

9/1200× 100 = 21.75% 

3. Gene Sequence of Three Point Test Cross: 

Hence, distance between genes A & B = 19.92 map units 

      Distance between genes B& C= 21.75 map units 

  

Distance between genes A & C= 21.75 + 19.92 = 41.67 map units 

 

 

4. Coefficient of Coincidence in Three point Test Cross: 

Coefficient of coincidence =  

Observed no. of double crossovers/Expected no. of double crossovers  

1. Observed double crossovers = 9/1200 x 100 = 0.75 

2. Expected double crossovers = Product of two single crossovers between AB & BC values/100 

= 19.92 x21.75/100 = 4.33 
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Coefficient of coincidence = 0.75/4.33 = 0.17 

Coefficient of interference =1- Coefficient of coincidence = 1 – 0.17 = 0.83 
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